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5x1.0m 4,095 264 12.8
5x1.5m 3,479 256 13.6
5x2.0m 3,309 270 14.0
5x2.5m 2,695 264 13.9
z T 2,060 268 14.3
5x1.0m 3221 282 13.1
5x1.5m 2,891 231 135
5x2.0m 2,274 276 13.9
5x2.5m 2,142 281 13.9
o) = 1,414 289 145
5x1.5m 2758 338 13.4
= 5x2.0m 2,825 337 14.2
N 5x2.5m 2,533 347 14.3
o)z 1,747 323 14.6
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5x1.0m 0.91 111 0.21
5x1.5m 0.91 1.09 0.20
5x2.0m 0.91 1.12 0.20
5%2.5m 0.91 1.12 0.19
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5x1.5m 0.88 1.67 0.23
5x2.0m 0.87 161 0.19
5%2.5m 0.87 1.65 0.19
=7 0.87 1.65 0.17
5x1.5m 0.87 1.28 0.39
5x2.0m 0.87 1.22 0.40
5%2.5m 0.85 1.25 0.38
o) =7 0.86 1.30 0.39




